TRESH EH2@0HE 2E
(Justfiti])

FGB Series

ONC (EHAE) 8
@iz M1%:Rc1/8~Rc1/2

JIS
: L] FGB
ouT 0 1.33x 10°Pal abs[]
I 00 1.4
m I MPa ( )
IN MPa 2.1( FGB11121 1.5)
O 0 100 40( )
O 0200 40
B
cm3/min 0.2

ONC
FGB21- 6 -1 -12CR Re 18 15 15 1.0 1.0
-2 -12CR ¢ 2 27 | 06 | 06 10 46 | 4 1 013
FGB31-§ -2-12CR | _ " 2 28 | 14 | 14 ACTOOV
-3-12CR R 1/4 3 58 0.6 0.6 50/60Hz 6.2 6.5 0.22
-6-12CR 5 15 0.15 | 0.15
FGB41-(% - 3-12CR 3 58 | 12 | 12 AC200V
————— 1 Rc1/4
-5-12CR Re 3/8 4 10 0.5 0.5 50/60Hz 8.7 8 0.39
-7-12CR 7 26.4 | 0.1 0.1 14 DG 24y
FGB51-10-5-12CR Re 3/8 4 10 1.0 1.2 bC 12V
-6-12CR ¢ 5 15 0.5 0.6 107 | 115 | o2
FGB51-00-7 -12CR | Rc3/8 7 264 | 02 | 025 ' ' '
-8-12CR Rc 1/2 10 375 | 0.08 0.1
010 +10%
020 AC
45
AC
030

AC100V AC200V

FGBO O - 2mA 1mA 1mA 2mA

4 CKD



FG B Series

EE2)-(©)-(D-(Decra®)- (D .

]
FIFIFI|F USB/G
(@ ) G|IG|G|G
BIBIBIB| rgc
21/31|41|51
( ) b 2 |22mm e |O|O0]|C
(2] 3 28 mm O|e |[O|D FVB
4 34 mm 0|0 |e | O
I 5 40 mm O|0 |0 e FWB/G
{b] 1 ONCO o |0 |0 | @
© . | | | | | FcY 6 [Rc1/8 e o |O|0| FHB
(C) 8 |Rc1/4 O]e e |DO
10 |Rc3/8 OO e |e FLB
15 |Rc1/2 O|O|O0]e
Y ' [o15 e |O|D|O]| 4B
(d ] 2 @2 e |o [0 |0
01 3 |¢3 Ofe |o O] 7¢
5 04 0|0 |e |e AR
6 ¢5 O|e (O |e AD
7 |lo7 OO0 e |e APKJ
8 |10 O|O0|0]e ADK
o - h 1 oo o oo e
| | | Py O 0O O
o 2CR o |0 |0 | o NAE]
02 NSB
03 3TR T 0G0 |0 |e | | | ——
NENAR]
3RR 0.G1/20 [0 |e | |@ NvP
=t O ¢ CHBIG
2C o |o |0 |0
2CS o (o |0 | o MXBIG
3T T 0G1/20 |0 |e |e | e
T -
SRS neien |9 ]| POFA)
PJ
T g ] [ ] [ ] [ ) P
() E A o (o (o |0 gV\‘é
N [0 |e | |@ _
S h L] ° L] [ ) ggé}ﬂ
0 Q B o |0 |0 | @ —
0 0 Y ' | AC100V50/60Hz o oo e
FG821_6_1_12CRAB_1 Dﬂ4 2 AC200V50/60HZ [ ) ° [ ] [ )
0OFGB 3 | DC 24V o o |0 |e
4 DC 12V o |o |0 |0 o
@ 0 022 mm é;
(h) 00000 - = )
® OO00OOORc1/8 g
® 0oOo Op1.5
0o -
oooooooooo - -
(1) 0
(0] oooog
(h) O
@ OCOO0O0OoDooAC 100V50/60Hz
0 10 FGB51 o 4mm(@ 50¢ 5mmE 6) O Re3/8(@ 10)
020 @ 2cro2cs 3TRO 3RRO 3RS
030
040

CKD 45



FG B Series

o FGB
IN 4_[ OUT\Q
1 O 0
2 SUSINBR 1
3|0 NBR !
4 SuUs !
5 ADC l
* CADJ 0111 20 O

OFGBO1-0-0-02CR

1| [l
oo o] | =] ooo Jan)
EI] kzZ\
] J
)
< L
%
S
m} 300mm DC
2C
02cs0
| JalBlc|D]E[F]G|H|] v [k ]| L |
FGB21 32 16 8 43 54 | 155 | 26.5 | 22 Rc1/8 15 | M4x 0.7 6
FGB31 36 18 11 | 535 | 655 | 185 | 295 | 28 | Rc1/80Rc1/4 | 18 | M5x 0.8 6
FGB41 40 25 12 62 76 | 225 | 34 34 | Rc1/40Rc3/8 | 18 | M5x 0.8 7
FGB51 50 30 15 | 745 | 905 | 26 | 375 | 40 | Rc3/80Rc1/2 | 20 | M5x 0.8 8

46 CKD



FG B Series

(] CAD|C o111 . CADP 0111
OFGBO1-0-0-02C 20 O OFGBO1-0-0-02CS 20 O

ad 0 ] O HNB/G

USB/G

p==S % PI= gg —

l o J, —) — l o J/
— — — —
0o 0oo 70\ oo ooo <> FvB
N\
FWB/G
FHB
ENEN | [AalB/|
FGB21 [195] 22 FGB21 |265| 22
FGB31 [225]| 28 FGB31 [295| 28 AB
FGB41 |26 | 34 FGB41 | 34 | 34
FGB51 (205 40 FGB51 |375]| 40 AG
ARJ
AD
o T - 0 G1/20 ° - _
0OFGBO1-0-0-0(3T 0OFGBO1-0-0-0 APK]
00000000 |3RS 000000000 |N ADK
oT 0 G1/20 0
OFGBO 1-0-0-0[3TR
O0O0O0O0O0O0O00sRR B
CADJ 0111 20 O -
NAB]
NSB
] O —
NPINAR]
oo 7‘ W gooo NVP
: % e
|
— Qa\\g\ ‘ CHBIG
I\ MXB/G
O
[(e]
S 0 30405
oo q P good
I ——
a1/2 PJ
° CADJ 0111 c\
OFGBO1-0-0-000B 20 O cvs
CPHJ
CPD
0-0
o‘; O@ie’
| |AalB|lc|[D[E] ol o 2R o
FGB31 | 92 |60.5|485 | 745 | 28 m% D T®
FGB41 | 96 |64.5 575|835 | 34 & & / oo &
FGB51 |99.5| 68 |71.5|97.5| 40 o %
.

|J
#‘—

FGB21 [40(34|30(|25|15|151p 5|p45 12|20
FGB31 |[52|42|40(30|18 |18 ip 6955 16|25
FGB41 |56|48|44 |36 (18|18 {p 6955 1.6 | 30
FGB51 |62|50(50 |38 (20|20 tp 6955 16|36

L JAIBICIDIE]FIGIHIJIKIL
6
7
7
7




TRESH BEH2@EBHE S/
(Justfiti])

G FG B Series

ONC (EFrfE) 8
@£ & O12:Rc1/8, Rc1/4, Re3/8

JIS
. B
noc o . GFGB
A 0 1.33x 102Pa absO O
1 001.4
OUT, ouT
V N MPa ( )
¢ MPa 2.1( GFGB2 1.5)
O 0 100 40( )
hd - 0 0200 40
O0OA O
B
A A
IN IN
OUT__OUT,, ¢ cm3/min 0.2

GFGBBL-1-0-12CR| _ | o e | 15 | 15 | 10 | 10 10 6 A
-2-0-12CR 2 25 0.6 0.6 ' '
GFGB@-2-0-12CR 2 | 27 | 14 | 14 gt
-3-0-12CR | Rc1/4 | Re3/8 | 3 58 | 06 | 0.6 6.2 6.5
-6-0-12CR 5 12 | 015 | 0.15
GFGB@ - 3 -0 -12CR 3 5.8 1.2 1.2 AC200v
Z5-0-12CR | Re1/4 | Re38 | 4 10 | 05 | 05 14 S0/60Hz 8.7 8
-7-0-12CR 7 19 01 | 0.1
GFGB@! - 5-0-12CR 4 10 1.0 1.2 Eg f;'\\;
-6-0-12CR | Rc1/4 | Rc3/8 | 5 15 05 | 06 107 1.5
-7-0-12CR 7 24 02 | 0.25
010 +10%
020 AC
. 49
AC
030
— AC100V | Ac200v | DC24v DC12V
GFGB 2mA 1mA TmA 2mA

48 CKD



G FG B Series

EREED-ED-DEME -
CEEERE O-® MER® @GR -

G |G |G |G
F|F |E|FE| FABG
S8 l8)s
@ 55 35 45 |55
] -
a 2 22 mm ° FVB
( ) (2] 3 28 mm .
4
34 mm . FWB/G
5 40 mm °
] . *{®1® 1! B
® e - : T
| Yy [e15 .
c
0 2 g2 o |e FLB
3 03 o |o
5 ¢4 o |o AB
6 ®5 ° )
7 Q7 o |o AG
N 2 [ o2 AR
[d) 0 O o |o |0 |o AD
ah) 10 ] 010 APK]
0 o (o |0 |0 ADK
X o (o [0 |0 -
)
e |‘ | | | H 1 PPS . [ . [ ° [ °
- f
0 L] [ ] [ ] [ ] N
03 NAB]
04 T (G172) o |o NSB
T 0 —
(6172 ® 1° | Nenam
NVP
o [ ] [ ] [ ]
e o |o |o CHB/G
T 0G1/20 o |o
T 0G1/20 e |0 MXB/G
ré’ [ ] [ ] [ ] [
(9] | | | . N o |0 [0 |o
o ] 1 [AC100V 50/60Hz o o le o | ormm
05 2 AC200V 50/60Hz o |0 [0 |0o pJ
3 DC24V o |0 [0 |0 oo
4 DC12V o |0 (o |0 CVs
CPH]
L i o |o |0 |0 CPD
o 1 1
06
O O Dg 0 . o |0 |0 |0 -
GFGB31-2-7-12CN-3 : P P P
0 GFGB ° J 1 ]
—
C
() O 028 mm O O o (o |0 |o %
'b) ooooo - 9 9 - )
® UoDoo O¢2 - 0
® o7
(c]
oooboooooo g -PPS -
o 0
o ooooo
[h) 0JO00000ODCc24V
O@®ooooo o
010 2 ~10
020 (d) X @ (i)
030 @ 2CR-2Cs 3TR-3RR:3RS
040
060 A
070

CKD 49



G FG B Series

o GFGB

o GFGB

\ _
\ s

I

:'_r"po

;

T

S

U 0 PPS
SUSINBR NBR

O NBR ABG063
SUS

N e e
1 S !

2 | 6

3 7

4




G FG B Series

. CAD
0 GFGBO [ -0 -0 -12CR . o 200 -
O O Jo K [
USB/G
= ©® | oo | oo ARG

of O Lo ll @ lll @]

P S R TR PN
{+>‘D( WE W W ( JEI,T*‘_I] s FVB

[
|0 DZD‘D . FWB/G
D .
E E E E E E FHB
If If | . 2-0 FLB
_{(
z) AB
SR | | o]
N P \n-Q— AG
oo 0
O AA 0 AR
BB AD
APKJ
300mm ADK
NJ2 |5 [als|6]7]alon
GFGB2 | AA | 58 | 84 [110 | 136 | 162 | 188 | 214 | 240 | 266
BB | 68 | 94 | 120 | 146 | 172 | 198 | 224 | 250 | 276 AR
GFGB3 | AA | 74 | 106 | 138 | 170 | 202 | 234 | 266 | 298 | 330 NSB
BB | 88 | 120|152 | 184 | 216 | 248 | 280 | 312 | 344 NENAR]
GFGB4 | AA | 86 | 124 | 162 | 200 | 238 | 276 | 314 | 352 | 390 NVP
BB | 100 | 138 | 176 | 214 | 252 | 290 | 328 | 366 | 404 CHBIG
GFGB5 | AA [ 100 | 146 | 192 | 238 | 284 | 330 | 376 | 422 | 468
BB | 114 | 160 | 206 | 252 | 298 | 344 | 390 | 436 | 482 MXB/G
[~ e JcTolelFlolnloleliluln]plalrls|T]
GFGB2 30 | 12 |Re1/8| 8 | 49 | 60 |155(265| 21 [ 26 | 8 | 16 | 25 | 26 |Rc18| 5 |p4.5| 9
GFGB3 36 | 13 |Rc3/8| 12 | 64 | 76 |185(|295| 28 | 32 | 15 | 24 |345| 32 |Rcl/4| 7 |@6.5| 10 POFAD
GFGB4 43 | 18 |Rc3/8| 12 | 71 | 85 |225| 34 | 31 | 38 | 15 | 24 | 31 | 38 |Rc1/4| 7 |9p6.5[115 PJ
GFGB5 50 | 20 |Rc3/8| 12 | 79 | 95 | 26 [37.5| 34 | 46 | 12 | 24 | 34 | 46 |Rcl4| 7 |p6.5| 14 gv\%
CPH]
CPD
[ )
0 GFGBO O -0 -0-12CR
o, 0 O
s
2]
== =
- o6 | [AlsfclolE|F 5
GFGB2 |30 | 33 | 44 [155 (265 | 22 0 2
ol P GFGB3 | 36 | 40 | 52 [185 (295 | 28
| & GFGB4 | 43 | 47 | 61 |225| 34 |34
—r 0 GFGB5 |50 |55 | 71 | 26 |37.5 | 40
O

300mm

al
Jicd |

CKD 51



G FG B Series

e GFGB20O 0O 30

2n-J

2n-K

| o '
| o ||\ | 6\7‘7
\ 1 v
\ @ \
2n-L
PR
- - > 2n-M
- a -
- ] -

. ladejc|ol el Flo |l H ]l kK | L | M |
GFGB2 |26 8015 | 1066045 | 155604 | 184201 | 106045 |124£ 041 | 194804 | @35 | @ 104" 2005 [ 16T 25105 | M3x 05 6
GFGB3 | 32 138015 | 16£0.45 | 20+ 0.1 | 236¢ 00 | 114£045 | 152 0.1 | 2426001 | @55 | @18)" 208 | o241 25405 | Mdx 07 55

e GFGB40O 5000

QCK}Q{)® 0
O & !

. lafselc]ofE]F]oefH] v [k][ L M| N |
GFGB4 | 38 7+ 02 | 25+ 0.1 | 26+ 0.1 | 88£02 | 11£02 | 28+ 0.1 | 37+ 0.1 | 26T 2505 | 98 | M4x 07 oo |o5 |of 28
GFGB5 | 46 8+ 0.2 | 30201 |30+ 0.1 | 115:02 | 14502 | 332 0.1 | 4301 | 26T 25405 o1t | M5x 0.8 800 (g7 |ofd' 28

52 CKD



(

OGFGBO O -0O-0-12C

O

51

0111

20 O

GFGB2 | 195 | 22
GFGB3 | 225 28
GFGB4 | 26 | 34
GFGB5 | 29.5| 40
e T - 0G1/20
0 GFGBO O -0 -0 -1[3T
Ooooooooo 3RS
oT 0G1/20
0 GFGBO O -0 -0-1BTR
000000000 BRR

l 0111 20 O

0
- [}
)=
O !

36

cJ

L lAlB ]

GFGB4

96

64.5

| c | D

42.5 | 68.5

\_ G%

34

GFGB5

99.5

68

52 78

40

B\
/)

G FG B Series

)

. CADE 0111
OGFGBO O-0-0-12CS 20 O

HNB/G
USB/G
FAB/G

FGB/G

FVB

FWB/G

GFGB2 | 265 | 22

GFGB3 | 295 | 28

GFGB4 | 34 | 34

GFGB5 | 375 40

OGFGBO O-0-0-10N

|
>3

CKD s3

FHB
FLB
AB

AG
ARJ
AD

APK]
ADK

NAB]
NSB

NPNAR]
NVP

CHBIG

MXB/G

PDFAD
PJ

c\vl
Cvs

CPHI
CPD

wsne

[}



TRESH EHSEEHE Bk
(Justfiti])

FGG Series

@ERE. FHE
@iz [12:Rc1/8, Rcl1/4, Rc3/8

I -GG
[ ]

0 1.33x 10°Pal abs[ O
COM 00 1.4
MPa ( )
NO NC MPa 2.1( FGG2 1.5)
0 0 100 40( )
° O 0200 40
COM B
0
g |
cm3/min 0.2

FGG21-6 -Z -12CR Re 1/8 1 0.65 0.7 10 46 4 015
-1-12CR 2 2.5 0.15 ' '
FGG31- § -0-12CR 2o 118 15 14 0.7 ?5;8?
-1-12CR| . 2 26 0.4 “ 6.2 6.5 0.25
-4 -12CR 3 5.5 0.2 AC200V
FGG41- & -1-12CR 2 2.6 0.7 50/60Hz
—— == Rci14
-4 -12CR Rc 3/8 3 55 0.3 14 8.7 8 0.45
-8-12CR 4 9.0 0.15 : gg f‘z‘\\;
FGG51- & - 1-12CR 2 26 12 0.60
“4-12CR| Rel 3 55 | 08030
| Rc3/8 . gy 10.7 11.5 0.65
-8-12CR 4 9.0 0.810.150
[ ]
6 _0-
FGG33-3 - 0-12CR Re 1/8 1.5 1.4 1.0 AG100V
-1-12CR| ¢ 44 2 2.6 0.7 50/60Hz 6.2 6.5 0.25
-4 -12CR 3 55 0.3 AC200V
FGG43-f,-1-12CR| _ 2 26 12 14 50/60Hz
R — C
-4 -12CR 3 55 0.6 DC 24V 8.7 8 0.45
———  Rc 3/8 DC 12V
-8-12CR 4 9.0 0.3
010 +10%
020 AC
55
AC
030 FGG51
040
— AC100V | Ac200v | Dc24v DC12V
FGGO O 2mA 1mA 1mA 2mA

54 CKD



F G G Series

2@ (DeeR®®) (1 e

FIFEI|F|FE USB/G
G G|IG|G|G
G|IG|G|G
21 @; ﬁ];) 51 FAB/G
( ) b 2 22 mm °
o 3 28 mm °
4 34 mm . FVB
5 [40mm °
b 1 o o |o |o FWB/G
® ] 3 -t
| c 6 Rc1/8 o | o FHB
1
o 8 [Rc1/4 . o
| 10 Rc3/8 FLB
m z o1 .
o 0 [@15 . AB
1 ¢ 2 °
4 03 e |e AG
8 04 o | o AR
) AD
© - "~ e [o[o o]
| _— ) Ac ADK
o 2CR o .
E ; 3TR T 06120
3RR T 0610 e o |o
DC -
2C o o e |e NAE]
2Cs e fefe] M
3T T 0G1/20 e |o |o NENAR)
3RS T 06t0 o o |0 NvP
r91 il I I CHB/G
@ A 0 ° o ° [
N e |o | MXB/G
] h [ ] [ ] [} [}
o B e To s
1 | AC100V 50/60Hz e oo | —
(i ) PDFAD]
2 | AC200V 50/60Hz o oo | i
e 3 |DC 24v e oo o] oo
O 0 4 |DC 12v e o [s] e
FGG21-6-Z-12CRAB-1 gggj
L 2
0FGG oo
() O 022 mm
(b) 0oooo
() 00000Re1/8
® o0oo O 1 c
500 2
oooooooo oo - - = ,
(] 0 -
(0] ooo OO
(h) O
® C0O0O0O0O0D0O0AC 100V 50/60Hz
O 10 @ 2crozcs
0 0 0 3TRO 3RRO 3RS
0 20
0 30

CKD 55



F G G Series

e FGGO 1003
1]
TR S
Q
I ['Yﬁ”
ooa _H" oo
——— 1 L N
%H
oo
1 O 0 6 PPSIBUSINBR
2 SUSINBR ! 7 sus 1
3|0 NBR 1 8|0 NBR }
4 Sus ! 9 ADC l
5 ADC ! |
e CADJ o111 20 O
0FGGO O -0-0-12CR
0 0 O
X
o ®®
S O
5] | o mlin=m
000 kg Eloo N
el J K{
(]
oo L
0 J K
ad
N
=An e
EI KX) \é:] -
Py X —r—
fj\//=;r DC ,
L 02CsO
30001

| dadsedcdolElFlcluly ]l k| L | v | N

FGG2 32 | 16 | 165 | 51 | 62 | 155 | 265 | 22 | 16 Rc1/8 25 8 M4x 0.7 6
FGG3 40 | 18 | 185 | 605 | 725 | 185 | 295 | 28 | 20 Rc1/8 Rc1/4 32 11 M5x 0.8 8
FGG4 45 | 25 | 25 | 745|885 | 225 | 34 | 34 | 21 Rc1/4 Rc3/8 35 15 M5x 0.8 8
FGG5 50 | 25 | 25 | 81 | 97 | 26 | 375 | 40 | 21 Rc1/4 Rc3/8 35 15 M5x 0.8 8

56 CKD



F G G Series

° cADL 0111 . | 0111
OFGGO O-0-0-12C 20 O 0OFGGO O -0-0-12CS 20 0 Lee
O O O 0
USBIG
o TN TN
e - e
INO NC is _ES_‘J_
ooo @ oo oo (;D ooo /__f\DDD oo f\J’ FVB
i i &J &J FWB/G
‘ \
FHB
| A | B | | A | B |
FGG2 195 | 22 FGG2 26.5 | 22 FLB
FGG3 225 | 28 FGG3 295 | 28 B
FGG4 26 | 34 FGG4 34 | 34
FGG5 29.5 | 40 FGG5 37.5] 40 AG
ARJ
e T - G1/20 ° - AD
0FGGO O-0-0-13T OFGGO O-0-0-10 PR
0000000 00OB3RS 00000000 O0ON ADK
T 0 G1/20 -
0FGGO O-0-0-1[3TR
000D00D00O00BRR =
CADJ 0111 20 O
0 an| 0 NABJ
NSB
ooo R —
‘#ﬂ 35 ot NENAR]
NVP
- = > -
I ' i i CHBIG
i Q = o
] © O { SR
5] - — I MXB/G
ooo @ oo ool > 30405 .
| 01/2 | |
POFAD
PJ
° | 0111 o
OFGGOO-0-0-100B 20 O
. |afB|c]|D][E] ovs
FGG3 92 |60.5|555 (815 | 28 P ——
O
FGG4 96 |64.5| 70 | 96 34 CPD
FGG5 |99.5| 68 | 78 | 104 | 40 —"—| aon
A~ 1{}}I AX
© R
0 S8
O = S O
- #J -
GJL?ﬁ < S
O
ooo O 3
3 * ¢=)
¥ L

FGG2 1[40 (34 |30 [25 | 8 |25 fp 5945 1.2 |20
FGG3 |52 42 |40 |30 (1132 p 655 16 |25
FGG4 |56 (48 |44 |36 (15|35 fp 6955 1.6 |30
FGG5 |62 (50 |50 38 (1535 fp 6955 16 |36

L_____lalslcIplelFlcl]JlK]L]
6
7
7
7

CKD +s7



FIRESH EHXIBERE E5
(Justfitf® )
GFGG Series
®iE A
@& 042. Rc1/8. Rcl/4
CAD

JIS
. - . GFGG
o2 o2 01.33x 10°Pall absO O
COM COM 001.2
> nolnc Nolfne MPa ( )
o MPa 1.8( GFGGH 1.5)
0 0 100 40( )
O 0200 40
B
cm3/min 0.2

GFGG21-Z-0 -12CR R/ | Ret/8 1 0.6 0.7 46 4
1-0-12CR| "¢ ¢ 2 2.2 0.15 '
GFGG31-0-00 -12CR 15 1.3 0.7 1.0 AC100V
—_—— ] 50/60Hz
-1-0 -12CR | Rc1/4 | Re1/4 2 2.4 0.4 6.2 6.5
-4-0 -12CR 3 4.3 0.2 AC200V
GFGG41-1-0 -12CR 2 2.6 0.7 50/60Hz
-4-00 -12CR | Re1/4 | Re1/4 3 5.3 0.3 8.7 8
-8-0-12CR 4 7.3 0.15 - DC 24v
GFGG51-1-0 -12CR 2 26 12060 ' DC 12v
-4-00 -12CR | Re1/4 | Re1/4 3 53 0.6 0.30 10.7 11.5
-8-0-12CR 4 7.3 0.8/ 0.150
010 +10%
020 AC
59
]
AC
030 GFGG51
040
— AC100V AC200V DC24V DC12V
GFGG 2mA 1mA 1mA 2mA

583 CKD



BEEERD-@-G-DE®E

G F G G Series

HNB/G
° USBIG
EEEEED O-® DE® @ @D
GIG|IG|G
3 ) FIE|E|E
GIG|IG|G
G|G|G|G| FvB
213141 51
( ) b 2 [22mm e (OO0 |0 FweiG
(2] 3 28 mm O|le |[O|DO
4 34 mm O(0|e FHB
5 40 mm O|gjd|e
[b) 1 o |e|e|e| FLB
‘D . | | | | | m 7 o) 1 e |O|0O|0O
(C] O [915 Ole |O]|O]| aAB
1 02 o (o [0 |0
4 03 O(e e |e AG
8 Q4 O|J0]e | e
ERE 2
(d] m 0 o o (o |0@
01 10 10 APK]
02 5 ADK
[ ] [ ] [ ] [ ] §
X o (o [0 | 0@
=Y 000 O
(e} - . 1 BERERK
| SR o P S
(1 ) 2CR e e | o | e | NAE]
03 3TR T n6tko [O [0 [e e | NSB
o4 T ] NENAR]
3RR O|0|e|e| nwp
B CHBIG
2C o | e
2CS ° ° MXB/G
3T T (G112) oo
T 0 |[o]o
3RS oo |o o] |°
: O e e e e | prAm
| | . N oo |0 |0 PJ
N AC100V 50/60Hz e|e|e e ]|
) 2 AC200V 50/60Hz e e o |e | CVS
o 0 05 3 DC24V e lelo|e]| crm
4 DC12V o |0 |0 |0 CPD
GFGG21-Z-5-12CN-3 E—
0 GFGG i o oo e
o 1 1 olololo
(a) 0 022 mm 06 O | oo |0 e
(b) ooooo - o 9 olololo] =
® 0O0OC Oo1 <
@ 0 05 _— J [ ) [ ) [ ] [ ] %
e _ 0 1 1 o]0 =4
0000000 OO - - - 7 olejeje| g3
0 0 9
(0] ooooo b
() 000000 0AC100V 50/60Hz
@000 noo o
010 2 ~10
020 (4] x @
030 @ 2crO2Cs
00 3TROS3RRO 3RS
040
050
060 A
o7d
CKD s




G F G G Series

e GFGG

o GFGG

T

1L
VA
=

I

1/
/%

|

(@, ]

s

I
1- h 0 6 PPSISUSINBR !
2 SUSCNBR 7 NBR
3 NBR | 8 suSs
4 SuUs 9 SuUs
5 PPS 10 A6063

CKD



. cAabl
0 GFGGO 1-0 -0 -12CR
] ]
|-
=2
O
O
O O0
oqQ
‘ O ‘ 0-0
I 1
O

| 2 |3 |4 |5 |6 |

o111

|7 |8 |

20 O

G F G G Series

J i‘ K "
09|99 | @&
® o o
i 44 24

\
& ( &
AER AR FR) AR i
N ! P ! 0-Q
O AA ) O

58 | 84 | 110 | 136 | 162 | 188 | 214 | 240 | 266
GFGG2
BB | 68 | 94 | 120 | 146 | 172 | 198 | 224 | 250 | 276
AA | 74 | 106 | 138 | 170 | 202 | 234 | 266 | 298 | 330
GFGG3
BB | 88 | 120 | 152 | 184 | 216 | 248 | 280 | 312 | 344
AA | 86 | 124 | 162 | 200 | 238 | 276 | 314 | 352 | 390
GFGG4
BB | 100 | 138 | 176 | 214 | 252 | 290 | 328 | 366 | 404
AA | 100 | 146 | 192 | 238 | 284 | 330 | 376 | 422 | 468
GFGG5
BB | 114 | 160 | 206 | 252 | 298 | 344 | 390 | 436 | 482
alsfololelFlolnlifklilulnTelalrls 71y
GFGG2 30 | 65 [Rct/8| 8 | 70 | 81 |155(265| 21 | 26 | 18 | 27 | 20 | 26 |Rct8| 5 |p4.5| 15 | 17
GFGG3 | 40 | 9 |Rct4| 11 | 84 | 96 |185|295| 28 | 32 | 24 | 33 |275| 32 |Reld| 7 |p6.5| 20 | 22
GFGG4 43 9 |Relfd| 11 [935|1075|225| 34 | 31 | 38 | 24 | 33 |345| 38 |Rcld| 7 |p65|215| 25
GFGG5 | 50 | 10 |Retf4| 11 | 100 | 116 | 26 |37.5| 34 | 46 | 24 | 33 |385| 46 |Retd| 7 |p65| 25 | 30
CKD st

HNB/G
USB/G
FAB/G

FVB

FWB/G
FHB
FLB
AB

AG
ARJ
AD

APK]
ADK

NABJ
NSB

NPNAR]
NVP

CHB/G

MXB/G

POFAD
PJ
(VA
Cvs

CPH]
CPD

wsnp

O



G F G G Series

0 GFGGO 1-0-0-12CR

@
il

@@

. |alsfc|D[E|F]
GFGG2 | 30 | 43 | 54 |155|26.5| 22
GFGG3 | 36 | 51 | 63 [185|29.5| 28

W
=

GFGG4 | 43 |60.5|745(225| 34 | 34 300mm
GFGGS | 50 | 67 | 83 | 26 |37.5| 40
° . o T ( - ) G1/20
0 GFGGO 1-0-0-12C 0 GFGGO 1-0 -0 -12CS 0 GFGGO 1-0 -0 -1[3T
OoOooooo0O0 3RS
caplo 0111 CADJC o111 o T ( 0 G120
20 0O 20 0O 0 GFGGO 1-0 -0 -1[3TR
O0D0O0DO0O000|3RR

CADL 0111
S D :
D =

36
n]

{Esyr N=)0 | O =

— —
GraG2 o5 | 22 GFGG2 205 | 2 — Talelclole]

GFGG3 [225 | 28 GFGG3 | 295 | 28 GFGG4 | 96 |645]| 56 | 82 | 34
GFGG4 | 26 | 34 GFGG4 | 34 | 34 GFGG5 |995] 68 | 64 | 90 | 40
GFGGS5 [295 | 40 GFGG5 (375 | 40

° O

OGFGGOD 1-0-0-00N

62 CKD



